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POLITICAL SCIENCE
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

j 1
1.  The Classical Tradition in political theory is considered to be a common school of enquiry

because :
(1)  Unity in style and manner of argument { f
(2)  Unity in themes and style d
(8)  Unity in searching the same goal -*. f
(4) Unity in having a common vision for humankina;' - (
/ |'
2. Who described the classical tradition as ”Egi'lc theory”? _,'I
(1) Isaiah Berlin (2) i Karl Pop, '.er
(3) Sheldon Wolin (4) Michae({;akeghbtt
A (
3.  Match List - I with List - II apd!@eiérct the correct answer from the code given below :
List - I e List - 11
(Concepts) (Thinkers)
(a) Tacit consent !i' - (i) Rawls
(b)  Self regarding and other (ii) Berlin
regardip%; action
; (¢) Negative and plositive liberty (i) Locke
© (d) Well ordered society (iv) Bentham
Code :
@ ® | @
A 6@ 0w @
@ @) @) @ 6
@ O @ @ @)
@) v G O @
s T :
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4.  Who feared that Marx’s dictatorship of the proletariat would become dictatorship on the
proletariat ?

(1) Lassalle (2) Proudhon (3) Bakunin (4) Luxemberg

5. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).

Select the correct answer from the code given below :
Assertion (A) : pr

f
In spite of the fact that Rawls theory has strong procedural features it can also-be segh as a
major contribution to social justice.

Reason (R) : f f

He is categorical that there is a need for rational justification of all departures from equality.
Code : -*. f

(1) Both (A) and (R) are true and (R) is the correct e‘xplanati-on ofﬁ.(A).

*
(2) Both (A) and (R) are true, but (R) is not  the Correctl-explanation of (A).
(3) (A) is true, but (R) is false / - I
(4) (A) is false, but (R) is true

6. Convergence theory pointed out the {oilvergence betrle'eﬁ :
(1) advanced capitalism and devgkoped socialism |
(2) manufacturing nations infl raw material exporting countries
(3) national interests in ifternational organizations
(4)

4) need to have common policy to fight climate change

i
7. Given below are two stater{nents, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :
Assertion (A) d‘
Lenin’s revolutic;far}},seizure of power is like a coup and negation of Marxism.
Reason (R) : '
Marx thought ajcommunist party would capture power peacefully.
Code : !
(1)|'* R Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) =
3) (A) is true, but (R) is false.
4)

o ]l

B._oth (A) and (R) are true, but (R) is not the correct explanation of (A).

) is false, but (R) is true.
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8.  Mao’s most original contribution was in emphasizing the revolutionary role of the :
(1) Proletariat
(2) Intelligentsia
(3) Combination of the proletariat and the peasantry
(4) Peasantry
9.  Who questioned the view that Locke was a defender of the Glorious Revolution{? :
(1) Tawney (2) Sabine (3) Macpherson 4) Ashcraftf’
{ r
10. Which political thinker rejects Aristotle completely ?
(1) Machiavelli  (2) Hobbes (3) Locke - (4) Rousseau
d K ;
11. Who described Rousseau as a totalitarian demograt ? . E
(1) Karl Popper (2) Carl Friedrich K Hann'ah Arendt (4) Jacob Talmon
! |
12. Power, not right is the focal point for Hobbes Why (l
(1) Power is more important than right. f,-’
(2) Rights will entail duties. 4
(3)  There is an inherent Conﬂ;{c b){tween power and right.
(4) Difficult to obtain agreemﬁnt among individuals.
13. Match List - I with List - IT and select the correct answer from the code given below :
List-1 { List - II
(Marx’s writing) { (Themes)
(a) Paris Magluscripts (i) Relative Autonomy of the state
, (b) Das Capital | (ii) Dictatorship of the proletariat
' (c) 18t Brumaire of Louis Bonaparte (iii) Surplus Value
(d) Critique of the Gotha Programme (iv) Alienation
Code :
@ & © @
W 6 @) G v
@~ G 6 G
3) (ﬁi) <iv> (ﬁ) ()
4) (iii)
N7 \II\I IHI\HII :
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14.

15.

16.

17.

Which of the following is true of Machiavelli’s political theory ?
(a) Idolized Ancient Rome

(b) Used History extensively to draw lessons for state-craft
(c) Private army needed for the success of a prince / ruler
(d) Blamed religion for Italy’s moral regeneration

Choose the correct answer from the code given below : o

(1) @and®) (2 (Gandd) () ©@and(d) (4 (2 and @,
{ r

How did Gandhi describe himself ? y

(1) Philosophical Anarchist (2) Liberal democra-tj - !

(3) Social Democrat 4) /i);nmumst E

Which of the following is true of Aristotle’s tontrlb thl’l"tO comparative method ?
a) To study the then existing political systems ‘i
b) To develop an empirical science of politics —=

§

(
(

L
(c) To arrive at the Ideal type "
(d) To apply abstract ideas in}réctice

Code : -

(1) (a) and (c) " (Z)J (@) and (b) (3) (b) and (d) (4) (c) and (d)
{

|

New Institutionalism emphasises on :

(1) Institutiofts rather than individuals

a

, (2) A balance Between institutions and individuals

(3) A group theory in politics
4)r Economics dominates over politics

|

|

18. Easton described his drastic revision in political science in 1969 as :
(1) Counter Reformation (2) Genuine Revolution
Correction to earlier studies (4) Abandoning his own earlier research
N7 \II\II“IN TR ;
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19. The essential framework of liberal political economy was provided by :

(1) Locke (2) Hume (3) Montesquieu (4) Smith

20. What has mainly accounted for the evolution of the unwritten constitution of Great Britain ?

(1) The British practice of following continuity and change peacefully

(2) The British acceptance of conventions as sacred as law but not enforceablet in ‘eourts
(3)  The British belief that the ‘King can do no wrong’ ' p
(4) The common law tradition in Britain f J r
21. In which country the practice of ‘once a speaker always a speaket’ is followed ?
(1) USA (2) UK (3) Ind‘ia () va;itzerland
(1 ) i
22. The Supreme Court’s right to judicial review IIIWas first estl.'ablished in :
(1) USA (2) India ©) ‘Sran_ée (4) Switzerland
23.  Inwhich of the following countries individual citizen’s rights have developed by the significant
intervention of the judiciary : A (
(1) Switzerland (2) U.Y&' £ (3) US.A (4) France
Vi <
24. Match List - I with List - II 'and select the correct answer from the code given below :
List -1 « List - II
(Electoral systélm) J{ (Countries)
(a) First-Past-the-Post System (i) France
(b) - Second Ballot System (i) Germany
/ () Alternative Vote System (i) USA
(d) Additional ﬁ/llerﬁber System (iv) Australia
Code
@ o @
W (v G @ 6
@ L) Gv) 6 G
@) O @) @) @)
@) G 6 G @
s T 1
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25. Given below are those statements, one labelled as Assertion (A) and the other as Reason
(R). Select the correct answer from the code given below :

Assertion (A) :

The theories of development of the 1950’s like behaviouralism, could never develop an
universally accepted paradigm because they were locally dated.

Reason (R) :

They originated during the Cold War period and consequently biased. o

Code : 'f; )
(1) Both (A) and (R) are true and (R) is the correct explanation of (A){ r
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false. o g
(4) (A) is false, but (R) is true. oy N \ {
*
y A

26. Political Socialization deals with : / ! I
(1)  Process of formulating political ideas | .

Career planning and political socialization fl F

@) ;
(3)  Elaborating the theories of Dugkheim { "

“
(4) Elaborating the theories o%WePer

Vi <
27. Subject - participatory culture was associated with :

(1) Erstwhile communist regimes (2) Fascist regimes

(3) Post Colonial S(iac1et1qs (4) Non Ideological dictatorships

28.  Who has.comnfented that politics is about diversity and conflict and the essential ingredient
of its existence is.afcaljcity ?

(1) Leftwich "(2) Lasswell (3) Crick (4) Millett
29. Huntington criticizes the modernization theory for not taking into account :
(1), Presence of several competing value systems or cultures in traditional society
(2) ':" The difference between base and superstructure
(3) The question of leadership
(4)

4) Overdeveloped nature of modernizing nations

st (1L
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30.

31.

32.

33.

34.

Who among the following provided an economic approach to elitism ?

(1) Pareto (2) Mosca (3) Mills (4) Burnham

According to whom the Indian Constitution aimed at the tripartite goal of national unity,
democracy and social revolution as three distinct strands interwoven into a “seamless
web” ?

(1)  W.H. Morris Jones (2) Rajni Kothari ¢
(3) Granville Austin (4) Sunil Khilnani {
lp' [

Which of the following grounds come within the ambit of reasonable restrictions put by the
state on the exercise of freedom under Article 19 of the Indian Conshtutlon |

(a) Security of state (b) Public order - (
-

(c) Decency or morality (d) ontempt of court

Select the correct answer from the code g1vern below : _;'

(1) (a) and (b) only (2) I (a) and ( only
(3)  (a), (b) and (c) only @) (@, (b), r(C). and(d)
4

Once approved by Parliament f %rbﬁow long can the proclamation of financial emergency
remain in operation ? A

(1) 2 months (2) 3 years

(3) Till the term of i.that Parliament (4) Indefinitely
L

Consider the .f(glowmg statements about the Vice - President of India and select the correct

answer from the eode given below :
a

(a) Elected by the S'ystem of proportional representation by a single transferable vote
(b) Elected by all the members of the Lok Sabha and the Rajya Sabha

(c) » Members (.ff State Assemblies have no right to vote

(

d) He is the Chairman of the Rajya Sabha

Codc_é :
(1) (5) and (b) (2)  (b), () and (d)
(3) ) and (d (4) (a), (b) and (c)
N7 \II\I \IHHIH||||H|\|||H|| 1
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30. fr=fafaa & 9 e sifisare =1t enfYfe S9rm 9o fowan ?
(1) W (2) R (3) e (4) A
31. Torueh ST7OR ARG Wiau™ &1 @8 ' oTEe S’ H ST Fohd o [afere q@ll o €9 H T Tehdl,
Aha s AT WIS Shifd o cTeI=l ohl YT T © 2
(1) T=Y.TF. HkE S| (2) T FEH _
(3) It e @) g fEerr L
[
32. ﬁw%r@aﬁﬁsﬁqﬁwwumﬁaaﬁm%aﬁaw%mﬁﬁwwwwmm
BRI gfoagaa Feie ot aRkfy # o1 €2 o1
(a) T F ©) @peer |
(c) TU=rER = 4gER (d) fqlqmlqaﬁfﬁqm—i—u
frefafed fe o 9 9& | e [ J
(1) 9 (a) 3R (b) (2) e Ax@ﬁ? @,
(3) F (@), (b) TR (c) WCICHORCE G
W | '
33. TR Gug g1 fore ST 1 Ep e % S SHeR S e G a8 T 32
(1) 29EdH " () 394 TR
(3) T FTHE( T - (4) effEd w1 q
w 1
34. W%W%ﬁﬂﬁﬁﬂ%@ﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁ@@@ﬁ@ﬁgﬁﬁ:
/(a) T Faer el STk Sfafifired % STIER Tohet HHHOIT 7 ST B <
(b) A (i T T T W ¥ Wi e g A ¥
(c) _ ¥Toh Fated # T4 faem el & Hewil 1 7 ol SRR T8 aidl 8 |
(d) 3 T | T A
2y
1) @ ) 2 () (© ¥ (@)
() (@, (b), () W () @ (), (b) ¥ (o)
N7 il i
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35.

36.

Arrange the chronological order of the following cases and select the correct answer from
the code given below :

(a) Bandhua Mukti Morcha V. Union of India
(b) M.C. Mehta V. Union of India

(c) ADM Jabalpur V. Shiv Kant Shukla

(d) BALCO Employees Union V. Union of India g
Code [ f
1) (©) @), (b), (d) 2 @, (@, © ©) . 4

3) (), (b), @) () 4 (b), (@) @), () { H'i'

Which of the following principles evolved fﬂom the udgement delivered in Bommai case in
relation to Article 356 ? Choose correct answer fro d?e code given below :

(a) The proclamation issued under Article 356 is subject to' ]ud1c1a1 review

A
!
(b) The state Assembly shoulcj\no;'be dissolved immediately after issuing proclamation
. <
(c) The Assembly shoulgi_‘aé dissolved only after the Parliament has approved the

proclamation

(d) The court mayl equire the Union Government to disclose the material on the basis of
which it was decided to invoke Art. 356

Code
+ (1) (b) and (C)‘f (2) (a), (0) and (d)
(3)  (a), (b) and/(d) (4) (a), (b), (c) and (d)

37. ]uétice Punchhi Commission is related to :
(1) Wrban Governance (2) Union - State Relations
District Administration (4) Electoral Reforms
N7 \II\II“IN TR RN 1
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35. Trefafad Al sl 37 HictshiHe i § Safeerd Hife don 9= il T Fhe ¥ W& W 1 997

d) STeTehl HHER H9 M YRd G {
{

e : .

1) () (@) (b), (d) 2 @ (D (© k) = .

(3) () (b), (@), (c) @ ®), @@« - |

A

36. ﬁmﬁf@ﬁﬁﬁﬁlﬂmélﬂlaﬁdﬂldﬂjwq356a5 ﬁ%ﬁmémﬁﬁﬁ'ﬁ@ﬁmﬁﬁg‘s‘%?

= ¥ T Fe 9 wE S| I W‘

356 3 s ST 71 7 g i ¥

(a) TT=T v TR i’,lv{l&'IIOh

(b) ﬂwﬁwqwﬁmqﬁfﬁaaﬁ%aﬁgﬁﬂﬁﬁmwm@l
i

() msrvnﬁ«’uqaﬁwﬁqﬁﬁimmésméw%rwamaﬁmmwm@|
(

b

d) AR GRI *he TR & e o o fo1d el ST Wehell € foh U fohd SMER W 37T=3% 356

maﬂﬁaﬂﬁvﬁ{m%
FHE 4
,m)@wwyg 2 (), () #R (d)
(3) (a), (b) ¥R (d) @) (@) (b), () &R (d)

37. —aEEfd 9B AR foRed Heiftd 72

(1) - IR I (2) HE-T Hay
(@) e gemea (4) T FER
ooz [ FFERCR I Y
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38.

39.

40.

41.

wonr [l

_ Assertion (A) :

Match List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Center’s Accord with) (Year)
(a) Assam (i) 1988
(b) Mizoram (i) 1985
(c) Tripura (i) 1985
(d) Punjab (iv) 1986 ¢
Code '(;
@@ (b) () (d) f f
1) Gv) @) @) () *
2 @ @) @ () J f
G) @) @ (@) (@) y & \
@ O @@ @ Y. !

Which committee felt that the Panchayati Ra] insti tlorfs could have survived well if they
had been encouraged well by entrusting respon51br]s as a “vanguard of development in
village India” ? ‘j

(1) Asoka Mehta (2) L.M. Singhvi (3)

.

e

G V-K~Refo (4) P.K. Thungan

Who was the Chief Election, CMlSSloner who wrote a letter to the President of India
recommending the removal off Hection Commissioner ?

(1) Navin Chawla (2)

(3) T.N. Seshan = 4)
1~
w |

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Se&ect the correct answer from the code given below :

N. Gopalaswami
M.S. Gill

y
Law and order is; hel-'rresponsibility of the District Magistrate.

Reason (R) : '

Law-and order is still one of the major problems in India.

Code : |

(1)|'* Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
3) (A) is true, but (R) is false.

@)

) is false, but (R) is true.
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38. EIT - I &I Gt - 11 ¥ gafad sifee oik 9= fed T3 e 4 w& S| i

Tt - 1 gt - 11
(7% T ek e 3 T AT g ) (@)
(a) ™M @) 1988
(b) TosiRH (i) 1985
(c) Tgu (iti) 1985
(d) S (iv) 1986 ¢ s
%< | [
@ () () (d)
1) Gv) (@) (i) () J
o @ 0 w6 >N
@ O @ 6w I,fﬁ 5
39. o W 1 o P o o e e e e &1 e Tl A e s A e
T B9 H 3% eIl 9 w3 aqfed €1 9 fehagn e 2
1) wEEE (@) e @) A @ @) WE g
40. T = 9@ g A W%‘%ﬁmmwwﬁmﬁﬁw&mﬁ off ?
(1) e < (2) & MOeEE (3) AT I (4) TAE |
41, R 2 e T T T A e (A) iR R F A (R) T TR A T e
& SR G f
TR (A).: d.
T S oo fireeiier 1 forieri ¥
| ek (R): )
A STk oquy‘;ﬂ'{‘dff 31oft oft U TS TEE o gE R
%% |
(1), (A) R (R) i T & 3 (R), (A) F1 HE TR &
(2) ¥ (A) 3R (R) ST T €, W (R), (A) BT FE TR L 2 |
(3) (A) T B, W (R) 319 B
(A) 38 8, WY (R) T4 T
||H|\|H|||“||\|H||H||H\||||H|H|\|H|\|||H||\||\||\|\|II\ s

www.examrace.com



42. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(State) (State Parties)
(a) Bihar (i) Apna Dal
(b) West Bengal (ii) Indian National Lok Dal
(c) Uttar Pradesh (iii) Revolutionary Socialist Par’fyt g
(d) Haryana (iv) Lok Janshakti Party ' p
Code { r
@ & © @ f
O @ @ 0O W 3
@ @ @ 0 k. &
@ G 0 6 @ b |
@ @ (@Gv) @) () [} .'I
/ I
43. Who of the following was not a member of the Towhrd .Equality report ?
(1) Lotika Sarkar (2) Neera [gfgri\ V.
(3) Vina Mazumdar % L(4) Sushila ﬁ\Iayar
. ﬁ){ |
44. Match List - I with List - IT aildfselect the correct answer from the code given below :
List - I " List - II
(Type of Pressure Groups) (Name of Pressure Groups)
(a) Based on tradit%onal social structure (i)  Associated Chamber of Commerce and
Industry in India
(b) - Based ondabour interest (ii) Nair Service Society
¢ (c) Based on ifistitytional interest (iii) Delhi University Teacher’s Association
(d) Based on b.Isinéss interest (iv) Hind Mazdoor Parishad
Code ,
@ 0o @
1), @ G @) ()
@) 16 @) @) 0
G @ @ O
@4 @) @ @ ()
s (111 (T 2
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42, Gt - 1 Gt - 11§ gafad Fifee iR = 53 ™ %2 9 9@ S0 & =999 Hif

et - 1 Tl - 11

(T=T) (T {9 TeT)
(a) TR () U TA
(b) afe=m aTa (i) YRAE UL AR <A
() W I (iii) eI defere aret r
(d) sfeEmn (iv) e SRR ATt i .
%< [

@@ () (o (d
1) @@ @@ G @) ,
2 (v) (@) @) () 3 (
3) (@) (@) () (iv) ’
4) @@ (v) (@) (i) ffp{

/

43, et & 4 % gada sferd fod % ween h 42
(1) e ThR @

(3) oM AR L@ e
B 4_'{ '
44. e - 11 eIt - 11 @ gafaa AT o) = fed 7 92 @ 9@ s g
T - 1 " Tl - 11

(mﬂqﬁw{m) (IS FYE T W)
(a) TRURE FIHISR WA W sTenfd (i) THIfgueE Jwd Ak HHE U $eE A
(b) it feea R TR (i) PR wfdd dEmEet

F (© Wﬂ'lﬁf%ﬁj e (iti) fooedt foreafommer foemer d@9
(d) =HIEITer fgd W euid (iv) &g 7eiqR aftwg
ES '|
L @ (k) (9 (d)

Dy, 6 @ () @
(2) = @) (v) (i) ()
) @) (@) @ (@)

(v) @) (i) (i)

) (
Il

(4)
oz
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45. Which of the following are the main problems of nation building in India ? Select the correct
answer from the code given below :

(a) Poverty
(b) Illiteracy

(c) Trade Unions

.F |
(d) Corruption : .(’ )
(e) Regional Political Parties ; ! f
(f)  Terrorism “a. : r

d {
Code : / - ,.; ;
1) (a), () () () @ f@), © @), O
©G) (@), (b), (d), () @ o), (d‘ (7) (f)

=4
4 (

46. Which of the following are the Q}'())dfls of reforms identified by Peters as alternatives to the
traditional public admlmstratlton

(a) Market Model

(b) Participatory Stflte Model
|
(c) Flexible Government Model

‘4
(d) Deregulated Government Model

Select the correct ansxr/ver from the code given below :
(1) = (a) and (b5i
Z}II ) and (¢

()" (a)/ () and (d)

(@), (b), (c) and (d

\IH\HIH||||H|\|\||H|| 2
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45. fTrafafea § vra # e i ot o gaed s €2 9 for U e § 9 9@ W H 9o
HIFTT :

a) THga

b) e

(

(

(©) ¢
(d) ¥=mER - {
(e) & TSHIfdeh g

(

f) edeerE

W: . &
(1)
3)
a ==
46. ﬁﬁiﬁf@ﬁﬁ@éﬂﬁﬂﬁgﬁﬁ%ﬁ?ﬁﬁﬁﬁﬁ?ﬁﬁ%?ﬁ%%%ﬁ%ﬁ%wﬁ
TeeH ) off ? o

T
(a) SR GfaHmH -
(b) WWWF@EFMH
(c) -9 HLHR GidqH
(d) %rﬁafqag?r{uﬁm
I'ﬂ%ﬁqmz@ﬁ H%Twaﬂwaﬁ:
(1) o (a) 3R (b)|
(2) (a) 3 (9)
eﬁ@@ﬁ@

4) (@), (b), () 3R (d)

st (TP 2
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47.

48.

49.

Arrange the following administrative thinkers in chronological order :
(a) Willoughby

(b) M.P. Follet

(c) F.W.Riggs

(d) Robert Dahl

Select the correct answer from the code given below :

(1) (b), (), () and () ) (@), b), (© and (d) Ve
(3)  (b), (@) (c) and (d) 4) (@), (o) (b) and (d) f f

Ty

L

Who among the following gave the 4P - Formula for departmental Organisation ?
1 .
(1) Fayol (2) Urwick (3) . Gulick (4) Mooney
-

i i
Given below are two statements, one labdlled a$ Asg'ertion (A) and other labelled as

Reason (R). Select the correct answer from 'the codll given below :

Assertion (A) :

f"lJ
Herbert Simon has ridiculed the Clasiilcal theory of or?aﬁis‘ation as a machine model theory.
!

Reason (R) : < f

Classicists are too much preckqup;'ed with the formal structural part of organisation and
that too at the cost of human-factors.

Code : .

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are {true, but (R) is not the correct explanation of (A).
(3) © (A) is trué, but (R) is false.
4)

4)  (A) is false;, f)ut-.l(R) is true.

50. Which of the following statements is not correct about the Right to Information Act ?
(1) The Right to Information Act came into force on 12 October 2005
(2)I" .- The Freedom of Information Act, 2002 has been repealed.
(3) \ The Official Secrets Act, 1923 has also been repealed.
(4) Central Information Commission and State Information Commissions have been
constituted.
s T 2
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47.

48.

49.

50.

(
(

¢
[ (4

fr=fafea yemaftes faaeni i Sy 3 sgafd sifay .

(a) IENIE]

(b) THL Hice

(c) Uh.esy, fo™

(d) T =B

1= fSU 7TT e H Q@ W& I =TI HY

(1) (®), @) () 3R () 2 (@), (b), () 3R (d) (
(3) (), (@) (o) 3R (d) 4 (@), (©), (b) IR (d) . [

frefafea 9 9 feaq favrfa dweq & faw 4 d-widen fan? -,' 2
(1) e @ whEw (3), ¢ e @

ff i
A < et el T3 ¥, ok ) afeRer (A) S SE A W (R) FE R AW A T Fe H A
T TR I G ’
ATHRT (A) : J'j y
6<®|¢H|5H—|9{H|dﬂ%wmﬁwwmmﬁwﬁf@v_vﬁ@§%|
T (R) : < )'.'
RSIATETE] G139 6 dil“l‘c{ll{q'»k\:ﬁl?ﬁl_qa? AN & Gfd 3Td doci= W©d § 31 o I8 | hRehl i
HHd WA B

He

) (R 2 S e (R, () 7 e
A gaﬁﬂﬁ%ﬁmm (A) 1 TE TR TR R
A!Téf%?f% ) T T

Aﬂaﬂ%fim R) W&l |

) (A)
2) (AT
) (A)
) (A)

Wwﬁw'ﬁW¢wﬁmﬁﬁﬁwwﬁﬁ%?
(1)! Y1 T SRR TIH 12 STReR, 2005 1 @1 g3 |

(2) "V = TaEa AtufTem, 2002 e #wR e e

(3) S i st 1923 F1 o fRe e T R

(4) T A SN TR I G TR Rl fed foman e ¥

st (TP s
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51.

52.

53.

54.

73*d Constitutional Amendment provided for :
(a) Constitutional status to rural and urban bodies

(b) Three - tier system for all Panchayati Raj Institutions

(c)  Direct elections of Chairpersons and members of Panchayati Raj Institutions at all levels
(d) Audit of panchayat funds by CAG

Select the correct answer from the code given below :

(1) (b) only (2) (a) and (b) only {
(3) (a) (b) and () 4)  (a) (b)and (d) | [

Ty

The Central Information Commission consists of the Chief Infprmahon Commissioner and

Information Commissioners : o {
(1) not exceeding three in number ,-‘// = |'

(2) not exceeding five in number r."l ' _JI'

(3) not exceeding seven in number i \ (l

(4) not exceeding ten in number V.

. f

e

Who among the following said, ¥ ngelopment admlmstratlon is an action - oriented and
goal - oriented adrrumstratwekytstem s

(1) FE.W. Riggs (2) Edward Weidner

(3) Ferrel Heady !i' - (4) H. Walker
L

Which of theifoilowing are the voluntary provisions of the 73'd Constitutional Amendment
Act 1992-?

(a) Providing ;fsef'yation for backward classes

(b) Setting up a State Finance Commission

(c) = Making thle Panchayats autonomous bodies

(d) Giving the Panchayats financial powers in relation to taxes, fees, etc.

L]
Selegt the correct answer from the code given below :

(1) (5) and (b) (2)  (b), () and (d)
(3) , (b) and (c 4) (@), (c) and (d)
N7 \II\I \I\IHIIHHI\IIIHII 2
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51. 739 GfaeM HeieA | e & E ©
(a) T TE IRA R 1 Haenfe <si
(b) T U T A Heed o fog s Saeen
(c) T TSt weft Wi W sreAed 3iR TSE 1 gt g
(d) 7 (FrEw T Herere Tark) g d=med & HiuEl sl o e

T feu T e H ¥ Wl W g /
(1) % (b) (@) F (@) R ) ,f {
() (@), (b) ¥ (o) ) (a), (b) ¥ (d)
52. Shesid oAl TR H Y& Yo ST SR Gl ST E, R
(1) Genda g stfus T 2t S / i
(2) Tem U A & et f _.
(3) wem uE § s T8 At ¥ \./
@ TR -
53. frAfafaa § 9 e wer - “%EFE frim'—r T F-IqE TR SRTI-3 gend e Tazen g 2"
(1) T, fom " () TeE faew
3) Y TS !:' . (4) TE. SR
w 1
54. 739 dfaym ﬁ?jﬂ? arfafTam, 1992 ¥ frfafaa § 9 w9 Wiess T&ayE € ?
/(@) foogat SRETT FE FTA
(b) T fox T Y T
(c) _ T=Tdl okl FoTerd R AT
(@) i, e g 3 e e ot e v
e few M0 e F @ wE SR R -
OCEC (2 (b), () R (d)
(3) (a), (b) 3R (o) 4) (@), (o) ¥R ()
oz [ AR .
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55.

56.

Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(a) Hota Committee (i) Centre - State Relations
(b) Santhanam Committee (i) Civil - Service Reforms
(c) Sarkaria Commission (iii) Prevention of Corruption
(d) Yashpal Committee (iv) Higher Education Reforms ¢
Code / ’
@ ® © @ e
O O 6@ @ W) v
@ @ G 6 @) _al R
@) @ O ) @) A ‘]
@ @ @ 6 G f \ |}
k1
Promotion to higher position involves : {é y
(a) Change of title %4 ( .
(b) Change of pay . J‘r l
(c) Change of duties - y
(d) Change of responsibility
Select the correct answer fJ}{‘om the code given below :
(1) (a) and (b) only (2) (b) and (c) only
ORNORCELYD 4 @, 0), (© and (d)

The process by vfhich the selected candidate is sent for an appointment is known as :

57.
(1) = Selection .| (2) Appointment (3) Certification (4) Placement
58. Dellllfefhding policy is the function of :
(1) Lrine agency (2) Staff agency
Auxiliary agency (4) Both Staff and Line agencies
S 11T 17T
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55. Gt - I &l Gt - 11 9 gAfad &ifae ok 9= fod 70 % § 9 w9 s g -

56.

57.

58.

eIt - 1 T - 11

(a) < |iHfa (@) F=-T G

(b) erm wiufd (i) Tafee Fan & gur

(c) HTRIRAT TR (i) YR T Tshe™

(d) =T |fafd (iv) = foan | gun p

% { { ‘
@@ (b) (o) (d)

1 @ @) @) (@) ;

(2) G (@) @) @) o (

®) G @ @) (@) A ]

@ () @ @ () ' R

3o U8 W YEfa § witfed © \,/ ’

() U H e 44 { adn

(b) aa H ufEda - ﬁﬁ' '

(c) hdsAl H aRad i .

(d) ITRFE | 9fedd

Hﬁ%}%@‘l%ﬁ@rﬁﬁwwwaﬁﬁq:

(1) FF (a) R (b) | () FFA (b) I ()

(3) " (a),(c) SR (d) 4)  (a), (b), (0 ¥R (d)

%Wméfﬁﬂ%mwwﬁawﬂwﬁﬁgﬁﬁ%mw ST S %

1) - =7 .I 2 fafw (3)  YHTUIIROT (4) T T

H"h% =1 s Frefafaa 3 § frae #ef

(1) g7 Tl (2 I T

(3) e TSl (4) WIE TS IR AR TSAtw el

ooz [ TN 2
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59. Who among the following are the critics of the bureaucratic theory ?
(a) Talcott Parsons (b) Michel Crozier (c) Robert Presthus (d) F.W. Riggs
Select the correct answer from the code given below :
(1) (a) and (b) only
(2) (b) and (d) only
(3) () () and (d) ._
(4)  (a), (b), (©) and (d) Y
{
60. Who among the following rejected the politics - administration dichotorﬁy A f
(1) Woodrow Wilson (2) Frank Goodnow d
(3) Herbert Simon (4) Robert Merton -* f
s N L |i
61. Who was of the opinion that survival depends orfﬂ state’ sfmaterial capabilities and its alliances
with other states ? "f
(1) John Mearsheimer (2) ! Kennath Waltz
(3) Thucydides 4) " T Snyx
62. Consider the following statements : “{ r
(@) Neo realism and neo liberalism are rationalist approaches
(b) Neo realism and fenﬁni;n‘ll aré reflectivist approaches
(c)  Post - structuralism and neo liberalism are rationalist approaches
(d) Feminism and !?OSt structuralism are reflectivist approaches
Select the correct answer ftom the code given below :
O @ad) B @Oa@G @ @Oad@ @ @
63./ Which of the folffwihg statements are true about soft power ?
(a) Soft power lcan be used by state actors
(b) _ Soft powet can be used by non state actors
(c) Soft powe1l is the second face of power
(d), _Soft power is a form of idealism
Select Ehe correct answer from the code given below :
(1) (a) (b) and (d) (2)  (b), () and (d)
b) and (c 4) (0), (d) and (a)
oo TR 5
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59.

60.

61.

62.

63.

oz

frafafad § 9 #9 Fewmd fagia ¥ s §2
(a) <TCTRIC T (b) WEHA HIGER () VL IR (d) ThHI=Y, T®
1 T 7T e § W TE W A1 =TI HIGT

(1) o (a) 3 (b)

(2) A (b) 3T (d)

(3) (), () 3 (d) !

(4) (@), (), () 3R (d) {5

[
Frefafaa o 9 fre TsHIfd-gemed g WS o1 salisha foran o1 ?

(1) Ffaem  (2) %% T () e« @) A9 T

- L |i
T8 forgent fo=r mﬁ‘ﬁﬁﬁﬁmmaﬁ%ﬁﬁw%ammnﬁﬁmﬁaﬁmﬁﬂﬁw

gl /
J

1) SHEEHR () ¥WgAes [ () i{ﬁt@'m @) 3. RS

feferfed seri W foem =it : .

(a) 9 Fenefae @i T SenAR ddhafear s £ [

(b) Ao i TS e S E
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64.

65.

66.

|

Which one of the following is not a Kantian influence that acts as a constraint on War ?

1)
()
®)
4)

Democracies will refrain from using force against other democracies
Economically important trade creates incentives to maintain peaceful relations
Global civil society exerts itself

International organisations can constrain decision makers by promoting peace

P
[

Find out the incorrect statement/s about Johan Galtung’s models of conflict, Violep'ée and

peace :

(a)

Code :

(1)
®)

lp' [
He suggested that conflict could be viewed as triangle with contradiction, attitude and
behaviour . ¢
He talked of structural, cultural, direct and indirgct violefice

. (
He discussed about peace building, peaclelz_,a(“laking..and peace keeping

He explained about direct war, proxy y\";ar and Intrastate
¥ | I

(a) and (d) (2) (lygmd (C)
(@) and (c) " 4) (a}‘, (by and (c)
!
<f
Match List - I with List - II al’;dltselect the correct answer from the code given below :
List - I . List - II
(Authors) 2 (Books)

i'
Stephen Kraser | i)  Empire of Civil Society

J. Rosenberg ii) From international to World Society
"4

(
(
E.M. Wood, | (iii) International Regimes
' (

Barry Buzaf-\ iv) Empire of Capital

@ ® O @
() @6 )
L) @ @) @
™ @ 0 )
@ O @) G
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64. Trafafaa & @ o1 sic & fagral o1 999 T8 & S g R 79701 & T4 H H Har 82
(1) ks 3T Tlehc=ll < %G et o1 JAT T | TR |
(2) T 9 | Aewayel SATIR wifaqel Feei sl aE W@ H e s i 6 7
(3) ¥ IR AN T JIH I B |
(4) TN TS Wifd i sgren e o fFmfarsti 1 frifia o wed €1
65. g, fEan qen wifd o aIn H SeH ||mg|ﬁ?uldH|ﬂ|ﬁ?aﬁﬁWWWﬁwaﬁﬁ'ﬁ g
(a) I germa e fob Herd <l weemt foriy, TIgfa qen SJasr & e |ﬁ5@ﬁé@ﬁﬂw%\’l
(b) SR TCAIH, HEH(h, Foaal T SToeaa feam ot o b
() < i o, v e o i =@,
(d) ﬁw&g&,wg@aﬂiw—waf{ﬁw@%ﬁ|
7= [\ /
1) (@) 3 @) 2) &w ©)
(3) () IR (0) (4)  (a), (b3 (0
4 |
66. e - 1 %1 T - Hﬁgﬁﬁﬁﬁa%?ﬁ%ﬁﬁm@@ﬂﬁwgﬁﬁ
I - 1 et - 11
(Treh) o« ()
(a) TR HW ‘: ( () TERR 3w fafae dEEd
(b) St TS (i) TP TRLHA 2 dos dramEel
() 3.UH. Tgrs’i (il) FEAIAA S
(d) o e f (iv) THEPR 3 Hived
E R
@ oo @
(1) @) @@ @)
@ L) @ v G
G) (v) @) () ()
4) @@ @) (@v) (i)
Nouzt7 L 5 Paper
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67.

68.

69.

70.

Which one of the following pair is mismatched ?

(1) World or Global Security - World community or human kind
(2) Societal Security - Societal needs
(3)  Economic Security - Welfare
(4) Environmental Security - Resources
f

Which of the following have emphasis in India’s nuclear deterrent : " " o
(1) Large numbers and deterrent force J [
(2) Nuclear parity and capability to retaliate {
(3) Small numbers and capability to deter y " f
(4) Deterrent force and nuclear parity // | ,, !

/ |'

/ , !
Consider the following statements about National Sjcur_l’lty Council (NSCI) of India :

(a) It's a three tier organisation consisting of st a'nglC pohcy group, joint intelligence
committee and National Security Advisory Board.

(b)  Ministers for External Affairs, ljéfence Home, anance and Commerce are its members
(c) It was formed in the yegi;r?")%K

(d) The former National Seculr‘tity Advisers were Brajesh Mishra, ].N. Dixit, K.P. Singh.
Select the correct answer from the code given below :

-

(1) (d), (©) and () | (2) ¢ [2) and (b) () (© (d)and (b) (4) (a)and (d)

Which one of the following is/are incorrect statement/s :
a

(a) The ’Neern.fna"-rDialogue’ is on India - China Relations

(b) The ‘Ottawa Dialogue’ is on India - Pakistan Relations

(¢) = Shangri-La Dialogue is on India - Singapore Relations

(d) Raisina Dialogue is India’s flagship conference of geopolitics and geoeconomics
L]

Code :

N (5)/ (b) and (c) (2)  (b), () and (d)
(3) ) and (c (4) (c) and (d)
N7 \II\I \ \I\IHIIHHI\IIIHII s
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67.

68.

69.

70.

N-00217

frefafea § 94 wF-w 3 gafea T €2
(1) dce AR oo fgRgRe - fova 9qg@ ste@n 9ma Sfd

(2) HHESHT gL - THTS AT
(3)  oTIfeieR et - Hm
(4) e AT N IEE

frefafed 8 & forger 9@ 9RA 1 wEm] wife fHares | § 2 L
(1) ATy e A e s { §

(2) ORHTY] FHAA 3R GRAhR A hi &
(3) Y GEA qUT FERU & Y & J e
(4) THemTeR o qem 9TATY] HHMHAT // P !
7 |
/ i |
T oh! T GL&T IRug (U7 T ©f o7E) & gR | i HYAl W foar S :

(a) 9% U fI-wa gmed © foed amfes ifa e giran afafa qon T gran
TATEHR SIS e |

(b) focer w3f, wan =i, T8 w3, ferl TN afor ﬂ’?f(saqn T E

() waﬁwwaﬁlwsﬁﬁ?ﬁ@él

(d) To U LA H(’H%Ghl(‘?:T qwl g, 5.0 difarq, 1. fog

= f¥ T Fe 9 W IW I |

(h@mW@UM@W@ B3) @ @B @) (2R (d)

frefafed § & ®F T HuF o9 2/3?

/() :ﬁnrrrnsrmffw—aﬁ:r el % fooa A ¥

(b) *3freren At ! YRA- iR Hedi o foma § 7

(©) - TR ATt YR - FaTR Gt & fawa & ¥

(d) Wﬁﬂﬂﬁﬁﬁ%ﬂ%%ﬂm%ﬁmﬁwwﬁwwm%l
w;

(1) @, () 3R () 2 () (© ()

(3) () ¥R (o) 4) (03 (d)
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71.

72.

73.

Consider the following statements about India’s role in United Nations. Which of the
statements are correct ?

(a) India is a major contributor to UN Democracy Fund

(b) Indian delegation to San Francisco Conference of 1945 was led by Vijayalakshmi Pandit
() In 2001, India piloted a draft comprehensive convention on International Terrorism
(

d) India submitted along with other countries an Action Plan for phased elimination of
nuclear weapons 1996 - 2020 o
f

Select the correct answer from the code given below : ;

(1) (@, (and(d) (2) () (b)and(c) (3) (a)and(d) (4).r (¢) and (iff)f'

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select the correct answer from the codes given below : F
i
Assertion (A) : States continue to exist as sovereign states. (

Reason (R) : Globalization has weakened ﬂfg Westphalian state system.
Code : ..'f . I-I
(1) Both (A) and (R) are true, and (R) is the corregt exialanation of (A).
(2) Both (A) and (R) are true but (R) is not the ergt explanation of (A).
(3) (A) is true, but (R) is false. == £
(4) (R) is true, but (A) is false. “{ r
: X <
Match the List - I with List _-_h and select the correct answer from the code given below :
List - I List - II
(a) Wassenaar Agreement (i) Stopping spread of chemical and
‘ ( biological weapons
(b)  Australia Group (i) Non proliferation of nuclear weapons
(c) - Nucleat Suppliers Group (iii) Exportcontrol for conventional arms and

£ dual use technologies

(d) Missile Tec4noibgy Control Regime (iv) Non proliferation of systems intended for
. the delivery of WMD

Code
@ ®) '@ (@
W, G o6 @)
@ L) @ @ @)
@) (v @) () ()
@ @) @ @) ()
ooz [T 5
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71. GIH T €9 % G § wRa ot yfert & fawar § frefafed weel ® faem 8 79 9 39 9
FHUH T T ?
(a) TR T T clrehaa T4 1 T 9= S
(b) a¥ 1945 % T WI-aEh! T | IRAT gfafafy dea o1 Agc foasaasH dfea 3 fowan o)
(c) I8 2001 H YRA 7 ST ARG T Teh THTH & ATIH - YTET 1 dF1 G TR |
(d) 9RA 7 T T F WY WOEG Ak H T BER I AT oh{—lafrohlq AT -
1996 - 2020 G&Id < | i
T e T Fe I wE W g P
D @ @M@ 2 @ EOIRE @) (@ W@ @) g (© 3 (@) ¢
72. = & weH fed T €, ww a1 tfueRe (A) 3R T & ek (R) Ww%ltﬁ%ﬁﬁmﬁﬁﬂ'ﬁ
W Dl A *
AfireRer (A) : U ' 'i'
T 31l off TPy T & &9 H formm ) f/"J }.'
e (R) : / i
Fetertor A SREhferd T Yol AR gd \ /
&R ,
1) (A) 3R (R) I 7 § 3R (R), (A) 1 GE wmOd 4
@) (A) 3 (R) ST T § B (R), (A) F1 T ST T 3
(3) (A)’\:I?q% AT (R) 3T
(4) (R) T 3, AFF (A) sm%:%
73. oI - [ &I Gt - [1 Sgdfad ¢ 3R A= 8 T e | 98 ST &1 991 &
et -1 | J{ et - 11
(a) TR HHEIT (i) THEER e Sifaeh SfERi o THR S Al
(b) . streferan gug (i)  TCATY] SRR R STHER
J(©)  HfRTeR T 79 (i) IRFITR B qe Wreifient 3 SRl SN
| R 1 frfa wat Frfamn
(d) & [ERENESCIS) (iv) rfeeh fortrer et Bferam <l gyeit &g Jomed!
: ' HT STIER |
FE : |
L@ ()@ (@
1) @) @ @) (v)
(2) " @@) @) (@) o (iv)
(3) (1v) (11) (1) (i)
4) (iii
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74. Which one of the following statements is incorrect ?
(1) New Development Bank is a multilateral development bank established by BRICS
(2) Asian Intrastructure Investment Bank is an initiative of China

(8)  WTO recognises least developed countries as those which are designated as such by
UNO

(4) International Finance Corporation offers political risk insurance and encourages private
sector development in developing countries {

75. Consider the following statements with regard to Security Council :
(@) India became member of Security Council seven times ¢
(b) Japan became a member of Security Council eleven times,
(c) It appoints non permanent members i »

(d) It appoints Secretary General / I

Select the correct answer from the code glven belo
%nd

(1) (a) and (b) (2) (b)and (c (4) (d) and (a)
: ‘30 O0o-
n
{ ,{
4
|
\
y
s TR s
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74. Trefafed § 9 &9 o o E@a 22
(1) =g SaauHe S foad Ti gR1 Tnfud T a5 vafia faem de 71
(2) TREH TR TR THRH S = & JIMEl ¥ T T o ¥

(3) fova =R Wed (T 3 o) 3 <ui i waifush 3Teu fashfad Iui i’ Y e §
9= G g g9 A TEn Eifgee fh ¥
(4) s fom frm ferpraeiier <l # Tsiifaer Sifem st geM Xl & qen st &s

foehT 1 GIcETe WS hidl 2| /
d »
[

75. &l aReg o Hay H fefafed sl - foaem St _f

(a) WA Y& IREE s HSEI HId o) o1 | X

(b) ST Y&T qREg i He&d TRE SR o | ¢ { ';

(c) I% TRt TEl i et et 71 ;"/. I.'

(d) ¥ HeEfea Hi fged w R r_*’ i

= fedl T e A w@ S e ’ \

1) @M @ O O (bf; M@ (4 @M@

st (TP 5
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